Answer on Question #65158 - Chemistry - Organic Chemistry

Task:

What is the mass of glucose solution that fills a 0.500L intravenous bottle if the density of the
glucose solution is 1.15g/mL

Solution:

Convert Lin mL :
1L =1000mL;
0.500L =xmlL;
0.500Lx1000mL

x =V (solutionof glucose)= I =500mL.

We find the mass of glucose solution by the next formula:
m(solution)

lution) = ;
plsolution) V (solution)

= m(solution) = p(solution) XV (solution);
Then,

m(solutionof glucose)=1.15 %LXSOO mL=575g.

Answer: The mass of glucose solution is 575 g.
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